

Simplify <sup>200409091536</sup>

Name

Answers

$$\left(\frac{3}{\cancel{8}_2}\right)\left(\frac{4}{3}\right) = \frac{1}{2}$$

$$\left(\frac{4}{3}\right)\left(\frac{3}{\cancel{4}}\right) = \frac{1}{1} = 1$$

$$\left(\frac{3}{\cancel{7}}\right)\left(\frac{14}{3}\right) = 2$$

$$\left(\frac{9}{16}\right)\left(\frac{\cancel{16}}{9}\right) = \frac{1}{1} = 1$$

$$\left(\frac{\cancel{22}^2}{3}\right)\left(\frac{4}{\cancel{11}}\right) = 8$$

$$\left(\frac{\cancel{33}^3}{7}\right)\left(\frac{14}{\cancel{11}}\right) = 6$$

$$\left(\frac{\cancel{100}^5}{3}\right)\left(\frac{3}{20}\right) = 5$$

$$\frac{\frac{11}{16}}{\frac{22}{3}} = \frac{11}{16} \cdot \frac{3}{\cancel{22}_2} = \frac{3}{32}$$

$$\left(\frac{\cancel{600}}{11}\right)\left(\frac{\cancel{22}^2}{\cancel{200}}\right) = 6$$

$$\left(\frac{3}{\cancel{8}_4}\right)\left(\frac{\cancel{4}^2}{3}\right)\left(\frac{\cancel{11}}{\cancel{2}}\right)\left(\frac{\cancel{4}}{\cancel{33}_3}\right)\left(\frac{3}{\cancel{12}_4}\right) = \frac{1}{4} \cdot \frac{1}{3} = \frac{1}{12}$$

Note

$$\left(\frac{4}{9}\right)\left(\frac{3}{2}\right)\left(\frac{0}{4}\right)\left(\frac{6}{3}\right)\left(\frac{1}{4}\right) = 0$$